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Question Paper Code : 2009
B.Com. (Part-III) Examination, 2018

( Regular  & Exempted )
APPLIED ECONOMICS

(Quantitative Techniques for Economic Analysis)
Time : Three Hours] [Maximum Marks : 100

Note : Answer five questions in all. Question No.1 is
compulsory. Besides this, attempt one question from
each of the four units. Use of calculator is allowed. Marks
are indicated agaisnt each question.
dqy ik¡p iz'uksa d¢ mÙkj nhft,A izFke iz'u vfuok;Z gSA bld¢

vykok] pkj bdkb;ksa ls ,d&,d iz'u fy;k tkuk vko';d gSA

x.kd dk iz;ksx dj ldrs gSaA izR;sd iz'u ds lkeus vad

fu/kkZfjr gSaA

1. Answer the following questions  : [4x10=40]
fuEufyf[kr iz'uksa d¢ mÙkj nhft;s %

(a) Given the demand function Pd = 3x2 - 20x + 5
and supply function, Ps = 15 + 9X

[P.T.O.]

http://www.lucknowstudy.com

http://www.lucknowstudy.com


2009/1000 (  2  )

Find out Producer's surplus.
ekax Qyu Pd = 3x2 - 20x + 5 ,oa vkiwfrZ Qyu

Ps = 15 + 9X mRiknd vf/k'ks"k dh x.kuk dhft;sA

(b) If TC = Q2 + 7Q + 23. Find out MC
;fn TC = Q2 + 7Q + 23] lhekUr ykxr dh x.kuk
dhft;sA

(c) What are advantages of Inventory Control ?
jgfr;k fu;a=.k ds D;k ykHk gksrs gSa \

(d) Determine the dual of the problem :
leL;k dh nksgjh fu/kkZfjr dhft;s %

Minimize U;wure Z = 5x1 + 2x2 + x3

   S.T.C. 2x1 + 3x2 + x3   20
6x1 + 8x2 + 5x3  30
7x1 + x2 + 3x3   40
x1 + 2x2 + 4x3   50

and x1, x2, x3 0
(e) If Q = 100 - 2P + 0.02Y, P = 20, Y = 5000, Find

out Income elasticity of demand.
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;fn Q = 100 - 2P + 0.02Y, P = 20, Y = 5000, ekax
dh vk; yksp dh x.kuk dhft;s

(f) Define Game Theory.
ØhM+k fl)kUr dks ifjHkkf"kr dhft;sA

(g) What is optimal strategy ?
loksZÙke j.kuhfr D;k gSa \

(h) Explain  input-output model.
buiqV&vkmViqV ekWMy dks le>kb;sA

(i) Discuss the importance of Linear Programming.
jSf[kd izksxzkfeax ds egÙo ij ppkZ dhft;sA

(j) Explain Re-order Point.
iqu% vkns'k fcUnq dks le>kb;sA

UNIT-I @ bdkbZ&I
2. If TR = 1400Q - 6Q2 [15]

TC = 1500 + 80Q
(a) Find  value of Q.

Q dk D;k ewY; gksxkA
[P.T.O.]2009/1000 (  6  )

UNIT-IV @ bdkbZ&IV
8. Find EOQ and Number of orders. Given : [15]

Unit Produced - 3600, Hodling Cost = 25%
Ordering Cost - Rs.36, Unit Price = Rs.10/-
EOQ ,oa Je dh la[;k crkb;sA Kkr gS %
mRikfnr bdkbZ & 3600 ] gksfYMx ykxr = 25%
vkns'k ykxr & # 36] bdkbZ ewY; = # 10/-

9. Is it possible to solve the given case ? If yes then How ?
if not then Why ? [15]
D;k fn;k x;k dsl gy djuk laHko gS \ ;fn gk¡ rks dSls \ ;fn

ugha rks D;ksa \




 7.09.0
2.08.0A  


 300
200B

B= is final demand and A is matrix.
B= vafre ekax gS] A eSfVªDl gSA

----- x -----
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(b) Calculate the maximum profit.
vf/kdre ykHk dh x.kuk dhft;sA

3. If TC = Q3 - 5Q2 + 60Q [15]
(a) Find AC function.

vkSlr ykxr Qyu dh x.kuk dhft;sA

(b) Find Minimum Average Cost.
U;wure vkSlr ykxr dh x.kuk dhft;sA

UNIT-II @ bdkbZ&II
4. Obtain the dual LP problem. [15]

nksgjh ¼Mqoy½ fyfu;j izksxzkfeax leL;k Kkr dhft;s %

Minimize U;wure Z = x1 + 2x2

     S.T.C. 2x1 + 4x2  160
x1 - x2 = 30
x1  10

and x1, x2 0
5. Use the simplex method to solve LPP : [15]

LPP dh x.kuk gsrq ljy fof/k dk mi;ksx dhft;s %

2009/1000 (  5  )

Maximum vf/kdre 6x1 + 5x2

     S.T.C. x1 + x2   5
3x1 + 2x2   12

and x1, x2   0
UNIT-III @ bdkbZ&III

6. Solve the Game : [15]
ØhM+k gy dhft;s %

211
212
453

A 




7. (a) Find the Game value. [15]
dhM+k ewY; dh x.kuk dhft;sA

(b) Find the saddle point .
lSMy fcUnq dh x.kuk dhft;sA

I I I III IV V
I -2 0 0 5 3
II 3 2 1 2 2
III -4 -3 0 -2 6
IV 5 3 -4 2 -6

Player-A

Player-B

[P.T.O.]

http://www.lucknowstudy.com

http://www.lucknowstudy.com

	2009

